= A
N = 0] &F AF S & AN A
20158 = 20 A LEHSIH MOIS S A
EX: MOISE A
M FOSSHANIUIL (YUDDHE /LU
S MOI2ES =X EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
M OIS S A 9,243,395 11,124,485 A 1,881,090
= 133,056
&< 889,385
Al 8,220,954
2OSSEHII| XL (L2 2N /UL A ) 1,627,680 1,921,847 A 294,167
= 37,004
= 58,481
Al 1,532,195
Mit22s =& 1,146,797 1,315,513 N 168,716
= 37,380
Al 1,109,417
MOI22s 243 590,646 742,477 A 151,831
201 et d| 35,348 42,348 AT7,000
01 AF 2t 2| H| 35,348 42,348 AT7,000
O1.48t=2H| 27,300
-MOlsg2s =4 18,300
MOIS SR LBt =H| 6,300,000 6,300
MOISJt221(200) 2
10,000 «1,200&¢ 12,000
-242 EX0s A da &2
9,000,000& 9,000
O5. 34| 6,048
-MOISERFX 02422 24!
7,000 x6H x12L x12€ 6,048
O6.Yx = 2,000
-MOIS&AF &0 AR 500,000& =4 LH 2,000
202 04d| 7,560 7,560 0
01 2L HI 7,560 7,560 0
OMOIZ2gRFA 0| 60,0003 *6H *3 x7 3| 7,560
301 et A= 44,320 57,520 A 13,200
09 HAIAHI EAZ 44,320 57,520 A 13,200
OMOIS3l &Y XX AS0]
60,000& 30 *5JH & H| 9,000
OsEdEz)| S @A 2HXA 24
7,000& *100¥ x103] 7,000
OSMBXNUE EIHXF o4l
60,0003 x20H 23| 2,400
OMOIS220 28| 60,000& *30H 1,800
OMOISLRESAU HAXNRJXZ2X AH 24
20,000 x20H 63| 2,400
OMDOlses 82 2 Uz o]
60,000 x20% x23| 2,400
OMOISXE=XUE HAX=AHH|
60,000 x 143 13 10,920




EX: MOISE A
MY 20SSHANIIUEL(LUDDHUE /LUHE)
o9l MOIE2S =X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAMOtZ202talDl AKX 34
7,000 100 x123] 8,400
306 52 150,000 250,000 A 100,000
01 s2 150,000 250,000 A 100,000
OMNMiot=s=2s 2 & XA
150,000, 000& 150,000
307 2iz2tol A 353,418 385,049 A 31,631
02 QIZFA AAIE E X 154,418 165,908 A 11,490
OsMMilsesxzX 12,000,000 12,000
OSYHE MOlSs2=sAY
2,592, 00029 SHS 75,168
OSHsS MUSXNEX ALSESHI AIE XA
15,300,000& 15,300
OMOIES Z2X HAMES AL 41,950,000& 41,950
OMDI=2s Z2Hus Mg 10,000,000& 10,000
05 QIZtREZ 175,000 195, 141 A 20,141
OMOIS0ISEAS |29 Hl  175,000,000& 175,000
06 22 24,000 24,000 0
OMOIS3 ¥ AolEE JIY 12,0008 %2,000H 24,000
MOl X 41,760 41,760 0
301 et A= 41,760 41,760 0
09 SHAIAHI B A2 41,760 41,760 0
OMNoi2s2du=segu 41,760
-4 dl 60,000 x 160 2 19,200
- ESSH| 141,000& x160H 22,560
MOIE2824H3 g2 &9 6,400 10,500 A4,100
301 et A= 6,400 10,500 A4 100
09 HAIAHI BEAZ 6,400 10,500 A4,100
OMOI224ds g&3d 29 6,400
-SHE 3 60,000 x40 2,400
-3 s 10,000 x40 10 4,000
NOlSes Z¢88s A&G X 21,000 28,350 NT,350
307 QI2t0| & 21,000 28,350 AT7,350
04 CIZ2tSHALALS B X 21,000 28,350 NT,350
OMOIE 23 H ¥ HE
30,000,000 *70/100 21,000
APES] 2ZREIIFD|] AN KR 15,400 16,200 A 800
307 QI2t0| ™ 15,400 16,200 A 800
04 CIZ2tSHAFALS B = 15,400 16,200 A 800
OAMEO 2ESIIFD] 22,000,000 «70/100 15,400
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2N
X ZH -
L= B

el

MOtS S At
=S 43IEtx
MotSs2s =d

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3. A& & Hl* X bl 19,574
-MOtS2s24X EHO0IX SXE=
200,000& 128 2,400
-JI A | X2eldl 2,000,000& 2,000
—GAANAEEH RXE> 5,000,000 5,000
-AEY ZHXES 3,000, 000& 3,000
DI WUy Ha Y AS
100,000& = 19CH 1,900
A2 XBIO01E2) 1, 1183 =1, 139m’ 1,274
-Jlg2 g2t |fXE+ 4,000,000 4,000
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
OFANE I8z WA 750,000 & *4H 3,000
Oxgs d72uH 3,000
-HANE XYE 20,0002 10074 2,000
-Al ¥ =2 £¥ES 10,000& * 1004 1,000
301 e A= 9,600 9,600 0
09 SAFAIHI & &2 9,600 9,600 0
OJlE2 U QNP BEA O KAZA A
24 20,000 x2H *x20L x12& 9,600
401 AIEHI L 2 CHYI 30,000 0 30,000
01 A& HI 30,000 0 30,000
OJlga 2420 &= 30,000,000& =14 30,000
405 XHobF S HI 5,000 36,700 A 31,700
01 et ESFH S 5,000 36,700 A 31,700
Ousg Xt 250,000& 2074 5,000
MOIEXEX XHE Ea2 Xd(EX) 29,000 43,000 A 14,000
< 14,500
Al 14,500
301 L2 A= 29,000 43,000 A 14,000
= 14,500
Al 14,500
02 Hetz Ltttz 29,000 43,000 214,000
OMOIESXNEX X Ee g 29,000, 000& 29,000
< 14,500
Al 14,500
MOtS2EFE2ZRNR(EX) 101,000 101,000 0
= 9,300
Al 91,700
307 21201 A 101,000 101,000 0
< 9,300
Al 91,700
03 QIZtHNHE2HHEX 101,000 101,000 0
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M MOtSS At
N FONSESHANI VI (YVDDUE/LBWE)
el MRAZAELSE EZ CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O6.8x= 4,000
-NHESAE AIESAE E H=20E 4 IHES
Xt 500, 0003 *2CH 43 4,000
202 4l 2,160 2,160 0
01 = LH YI 2,160 2,160 0
OXNESAt HRF& ¢l
60,0003 x2H 32 +63] 2,160
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
OXNIASAEES ME(ZZ,0HH,8H ., S)
500,000& *43| 2,000
301 et A=z 10,320 10,320 0
09 &AL HI B &S 10,320 10,320 0
Of= & & NISAMX U3 A oyl
60,000& x60H 3,600
OAZ BAXH TEZAK 24
7,000& *30H x 123 2,520
Os&E2LEs)l, MHMl s SML =4
7,000& 60 102 4,200
303 &3 1,700 1,700 0
01 243 1,700 1,700 0
OZ2RASHAE NISAE Al4 1,700
-8 1,200,000 1,200
-R=S AL 50,000& 10 500
307 21201 A 5,000 14,150 29,150
02 It S AHE L 5,000 14,150 A9,150
OXNAXASA 43t At K&
5,000,000 5,000
NESMEAEH2EXRA(EX) 80,000 82,000 A 2,000
< 5,000
Al 75,000
307 21201 A 80,000 82,000 A 2,000
< 5,000
Al 75,000
05 RIZt2IEt = 80,000 82,000 A 2,000
OXNESALHEH S43tAS 80,000,000 80,000
< 5,000
Al 75,000
NASAHEHEBEHESXNA(BEX) 32,787 45,428 A12,641
= 16,394
< 4,918
Al 11,475
307 gl2tol & 32,787 45,428 A12,641
= 16,394




M MOtSS At
MY 20SSHANIIUEL(LUDDHUE /LUHE)
oot HEZABLE 23 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,918
Al 11,475
06 23 32,787 ,428 A 12,641
OX&AS AL &oll 2& It 32,787,000& 32,787
= 16,394
S 4,918
Al 11,475
ANASAMEHZCOUOIHXA(EX) 41,220 ,306 1,914
= 20,610
< 6,183
Al 14,427
307 gl2tol & 41,220 ,306 1,914
= 20,610
< 6,183
Al 14,427
05 BIZHRI & 3 41,220 ,306 1,914
OX&EAtL=, 0/8 2CIUHIOH =<0
41,220,000 41,220
= 20,610
S 6,183
Al 14,427
UEFNASAIZIHES2IXNA(EX) 10,000 ,000 8,000
< 5,000
Al 5,000
307 21201 A 10,000 ,000 8,000
< 5,000
Al 5,000
05 RIZHRI & 3 10,000 ,000 8,000
OXESENASA 222G
10,000, 000& 10,000
< 5,000
Al 5,000
AJSALRS & HALX & 7,000 , 100 A 28,100
307 21201 A 7,000 , 100 228,100
04 DIZHHALALSE E X 7,000 , 100 A28,100
OXNESALRL & A X &
10,000, 0002 70/ 100 7,000
AL NEHLAL (B ELRGNL/XNALZ Al 2,825,137 3,414,320 A 589,183
< 400,000
Al 2,425,137
NS F0 =3 At 2,825,137 3,414,320 A 589,183
< 400,000
Al 2,425,137
A2 FUSAAL (XHH) 1,392,502 1,091,944 300,558
401 Al HIZ 201 8] 1,392,502 1,091,944 300,558




SM: MOFSEAD
Hy: ARD NAHEAMS(BELTNANL/NALEA)
Sl NHFLSAALY (B9 ®R)

ST e/

(u]

|
ol

>

bl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 1,390,000 1,090,000 300,000
OFELX #Hx2e| AW WHBA
30,000,000& » 14! 30,000
OFEL HYHe(ZE0I8) sZ2EXZEIA
50,000,000 » 14! 50,000
Olls t21el s2EZESA
50,000,000& » 14! 50,000
Osol &2 IE20l &X
60,000,000& » 14! 60,000
O&Jl Al MEZHI S A 50,000,000 14 50,000
Osoll SE=XNI2sHHEH =3 A
60,000, 000& =14 60,000
Osoll Eetel 0t=2e+2 HHISA
60,000, 000& =14 60,000
oKl =412l sZ2EZE I A
50,000,000& =14 50,000
O&dl ~A=cl DtSot=% ZHISA
50,000,000& =14 50,000
OJIAH OISl (ZX) WSIMHMS A
150,000,000 * 14 150,000
O=Z 422l 2N ¥ S2EHHISAM
100,000,000 * 14 100,000
OJI= 2422 0S8 OtAZ EZHEIAM
50,000,000& =14 50,000
OolY sH2l S48 &XBA
100,000,000 * 14 100,000
O30l ZAtel oietE=2 JHE S At
50,000,000 * 14! 50,000
O=0l2 tistiiel aietot 89 EX S A
80,000,000 * 14! 80,000
Osole tH&Ew JHHM3A 400,000,000 1Al 400,000
03 Al SR THHI 2,502 1,944 558
OAL7L FCU=JAAY AIE20UHI
1,390,000, 000& *0.36/100%50%<& 2¢> 2,502
A2 FUSIAM(EX) 906,435 1,322,376 A 415,941
< 400,000
Al 506,435
401 Al HIZ 201 Y| 906,435 1,322,376 A 415,941
< 400,000
Al 506,435
01 A& HI 900,000 1,320,000 A 420,000
OEol &eze] =2 2 =2 EXSA
100,000, 000& * 14! 100,000
= 50,000
Al 50,000
O&lZ AtZ2cel 0t SHEFEIA
100,000, 000& * 14! 100,000
< 50,000




SN MOtSS At

H: ARL NGNS AS (FELNIANL/NLY

Ha
H
=

el X HEDSAALY (el:de)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 50,000
OJIAH W32l DIS2dUEF S ILE S A}
120,000,000 = 14! 120,000
& 60,000
Al 60,000
OBES MSZE MYU2 HETHZA
100,000,000 = 14! 100,000
= 50,000
Al 50,000
OEZdl =52 0t2otd T B A
60,000,000 x1A! 60,000
& 30,000
Al 30,000
OEo =22 =2 A X Z2At
120,000,000 = 1A! 120,000
= 60,000
Al 60,000
OYsts S SX32 HESA
300,000,000 x14Al 300,000
= 100,000
Al 200,000
02 2elbl 3,600 0 3,600
OYstEs U=EH S HESAF 22l
300,000,000& *1.2/100 3,600
03 A& £ 0HH] 2,835 2,376 459
OATRR FOUSIAY ALY
900,000,000 *0.63/100%50%< & 2> 2,835
Eof Hol=EXs & Ag 526,200 0 526,200
401 AlEHIZL 2 0HY| 526,200 0 526,200
01 Al&EH| 500,000 0 500,000
Osall HolsXg 2 HE 500,000, 000& = 14! 500,000
02 2teld| 22,600 0 22,600
OSolf gelExsa A5 22|
2,000,000,000€ %1.13/100 22,600
03 Al&E 201 Y| 3,600 0 3,600
Osdll Hol=Xsa HE A2l
2,000,000,000& *0.36/100%50%< & 2> 3,600
MSISHMPRAS(RS/EM . A NK) 567,980 295,780 272,200
o= 186,000
Al 381,980
HMStEs JIetE A 567,980 295,780 272,200
=} 186,000
Al 381,980
HMSH5 29 195,980 260,780 A 64,800
201 et 9| 48,280 51,600 A 3,320
01 AP 2t 2| H| 28,180 36,200 A8,020
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220 QHANLAE RIS, EdlS)
88,0003 20 & x12& 2,112
SOl AE A A HOIAORE MA T2
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O1.8t=2H| 18,100
SIIERAHEZAR JEISEHI (Y - 232F .S
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-AZ2t 2R 7,658% x1H *43A| 2t 12 3,952
-ts4 720
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JIEIIS 20,000 1 x 128 240
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